Geometry A Name: Kﬁ\:l;

Section 1.5 Notes: Angle Pairs Date: Period :

Vocabulary
For each term state the definition, sketch a diagram, and provide examples from the following diagrams.
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Definition Diagram Example
Complementary angles
two angles that ddd up to W
90° o /
——

Supplementary angles

Two angles that add up o \ us®

1%0° 60" \ 20" %

Adjacent angles ~[<ABC and <CBD
tWo angles next to each Ornev /° - share vertex &

that §hare o mon vertex and - -
0 LOMNNON S\OL A 8 D e Sk Bt
Linear pair <DEF and <FEG
TWo adjatent ongles Hnat 4 X
) MDEF+ meFEG = \%0
form a tine TOgether
0 € 6
Vertical angles <} and ¢3
two angres a.urost from ean otiey <2land ¢4
when o inet oroft o form an
X
Using Angle Pairs (\inear paw)

Examplel : If mz4 = 168°, find m«3, m«5, and m6.
medemey \g0° (wnear parr) MY mep = g0 (Unear par)
Med +ieg = 180 V6§ v meb = 150

"4
mesrmeb =150
mes 12 - (€0

‘ M6 168 |

—



add o 40°
Example 2 : 2A and 4B are complementary. Find m<A and m«B.

MmcA +meB = qo

mzA = (11x + 24)° mef = W) +2
k424 + x+18 = 90 A )+24
o Mp = 680
MZER i+ 18) 12X +42+= 90 S N Check: These fwo shooid
12X =48 med = 441§ «dd Yo 90
] \mezzloi es+aa = a0 (Y

Example 3 : Find m«DEG and m «GEF.
MHED + M<DEG + MSGEF = 180
Q0 + bx + 4x =180

MDEG = 6(a)
|_mcoee=sq°[

0+ x=\60

=

MLGEF=4(a)

‘0,\'; qo \ : o

[E lmLc,E\::%" f <HEF 1§ a stravgw angle (1%0°)
X | — |

Linear Pair Postulate (LPP)

If two angles form a linear pair, then they are /
supplementary. - 172 >

mZ1+mZ2=180°

Example 4: Solve for x in the diagram then find mZPSQ . P
me 0P+ e PLQ =190 me Q= 3(44)+b \{3/\*4- 6)°
-\¢0 s >
AR Mepsa = Bg° | O Q
348 = \80 2
3133 A
@ €08Q 1§ 0 shaght angle (190°)

Vertical Angles Theorem (VAT)

2

) 1 3
Vertical angles are congruent. 4

1= /3 and £2=/4

Example 5: Find the value of y and the measure of each angle in the _
diagram below. { =[4y-—%\
4y-43 - 2y ficrangie = 4(a1) 43 i \ /@
-42: -y W Nertia)
¥ Cewond angie= 2(2)) angles ave



Example 6 : Find the values of x and y.
gxrab+ 3% =180 (Lnear Parr)
WA +2 =180
1SR

o]

: ¢ heseangtes
form a \ineay
pary

(add up to 180°)

By+3¢+4a =150 (Lunear Pawr) By+38 < 138 (verhua) q”')f&ofé}
6y +§0:180 ang\es ) quq’r’b

5y <100

by =100 -

Example 7 : Find the measure of each angle in the diagram.

('S

ON
2(5%-6)=6x+50 (vernal §y+6=1y-9 (verfieal
OX-10 = bx+50 ang\et) 5=12y-9 angles)
4% -10=60 422y = o°

uu:!o() @
‘X=\‘) ’



